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Rocarea<-data.frame(StROC=0,HzROC=0)

Stattable<-data.frame(StAIC=1,5tDe. 1=1,stDev2=15th=1HzAIC=1HzDev 1=1 HzDev2= 1Hzn=1)
R2table<-data.frame(StR2=1 HzR2=1)

Coeftable<-data.frame(St_coef=0,Hz_coef=0,r=0)

# Simulate data #
for(i in 1.1000){
N<-10000
X 1<-morm(N,0,1)
X2<-1*(runif{N,min=0,max=1)>0.5)
X3<-round(rexp(N, 1/36),0)
X3<-ifelse(X3=0,1,X3)
CLtO<-data.frame(ID=I:N,X1=X 1,X2=X2,X3=X3,Y=0,t=0)
CL<-CLtO
for(j in 1:24){
CLtemp<-CL[CL$X3>0 & CL$Y==0 & CL $t=j-I ]
<-length(CLtemp$X3)
u<-runif(n)
CLtemp$X3<-CLtemp$X3-|
p<-exp(-4.2+(I*CLtemp$XI)+(I*CLtemp$X2)+((I/12)*CLtemp$X3))/
(Ltexp(-4.2+(1*CLtemp$X 1)+(1*CLtemp$X2)+(( 1/12)*CLtemp$X3)))
CLtemp8$Y<-ifelse(U<p, 1,0)
CLtemp$t<-(CLtemp$t)+1
CL<-rbind(CL,CLtemp)
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#Separate data : Trainning set and Validation set#
CLData<-CL[CL$t>0,]
CLData$X3<-CLData$x3+1
CLModel<-CLData[CLData$t<=12)]
CLTest<-CLData[CLData$t>12)]

#Set data for analysis#
CLst1<-CLModel[CLModelSY = 1]
CLst2<-CLModel[CLModel$X3==1 & CLModel$Y=0,]
CLst3<-CLModel[CLModel$X3>1 & CLModel$Y=0 & CLModel$t==12,]
CLModelSt<-rbind(CLstl,CLst2,CLst3)
CLModelSK-
CLModelSt[order(CLModelStSID,CLModelSt$XI,CLModelSt$X2,CLModelSt$X3,
CLModelSt$Y,CLModelStst) ]
CLsttest I<-CLTest[CLTest$Y==1]
CLsttest2<-CLTest[CLTestX3==1& CLTest$Y =0,
CLsttest3<-CLTestfCLTest$X3>1 & CLTest8§Y=0 & CLTest$t==24]
CLTestSt<-rbind(CLsttestl,CLsttest2,CLsttest3)
CLTestSt<-CLTestSt[order(CLTestStSID,CLTestStSXI, CLTestSt$X2,CLTestStX3,
CLTestStSY CLTestStst),]
CLModelSt1<-CLModel[CLModel$t==1]
CLModelStK-
CLMaodelStl [order(CLModelStI$1D,CLModelStI $X1,CLModelSt 1SX2,CLModelSt 18X3,
CLModelSt1$Y,CLModelSt 13t),]
CLModelSt1$Y<-CLModelSt§Y

#Estimate and predict Static model#
Smodel<-gIm(Y~X 1+X2+X3, family=binomial(link=logit),data=CLModelSt 1)
summary(Smodel)
CLTestSt13<-CLTest[CLTest$t==13)]
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CLTestStl3<-
CLTestSt13[order(CLTestS113$1D,CLTestSt 13$x 1,CLTestSt13$X2,CLTestSt 136X3 L L TestSt 1
38Y CLTestStl3%t)]
CLTestSt13$Y<-CLTestStSY
CLTestSt 13$preStemp<-predict.gim(Smodel newdata=CL TestSt 13 type="response”)
CLTestSt13Y 1<-CLTestSt 13[CLTestSt138Y==1]
CLTestSt13YO<-CLTestSt 13[CLTestSt13$Y==0 ]

#Compute R-square of static model#
StG<-(Smodel$null.deviance-Smodel$deviance)
StRsq<-(1-exp(-StG/10000))

#Compute sensitivity and 1-specificity of static model#

snumroc<-data. frame(stsen=1,stmspe=1)

for(k in 1:100)
Y <-ifelse(CLTestSt 13$preStemp>(k*0.01), 1,0)
scsen<-ifelse(CLTestSt138Y==1& Y s= 1,1,0)
scspe<-ifelse(CLTestSt138Y==0&Ys=0,1,0)
stsen<-(sum(scsen))/nrow(c LTestSt 13Y 1)
stspe<-(sum(scspe))/nrow(CLTestStI3Y0)
stmspe<-(l-stspe)
snumroctemp<-data.frame(stsen,stmspe)
snumroc<-rbind(snumroc,snumroctemp)

}

CLTestStl3<-

data.frame(ID=CLTestStI3$ID,XI=CLTestStI3$X1,X2=CLTestStI3$X2,X3=CL TestStI3$X3,
Y=CLTestSt138Y,t=CLTestSt 138t psy 1=CLTestSt 13$preStemp)

#Estimate Dynamic or Hazard model#
Hmodel<-gIm(Y ~x 1+X2+X3,family=binomial(link=logit),data=CLModel)
summary(Hmodel)
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#Predict and compute probability of event for Dynamic model

CLTesth13<-CLTest[CL Test$t=13]

CLTesth 13<-
CLTesthI3[order(CLTesthI3$1D,CLTesthI3$XI,CLTesthI3$X2,CLTesthI3$X3,CLTesthI3$Y,
CLTesth138t) ]

CLTesth13§Y<-CLTestSt$Y

CLTesth 13nex<-data. frame(CLTesth 13,pyOcum=1)

for(d in 1:12){

CLTesthnext<-data.frame(CLTesth 13nex)

CLTesthnext$X3<-(CL Testhnext$X3-d)

pylti<-predict.glm(Hmodel newdata=CL Testhnext,type="response")
CLTesthnextSpy 1t<-ifelse(CL Testhnext$X3>=0,py 1ti,0)
CLTesthnext$pyOt<-(1-CL TesthnextSpy 1)

CLTesth 13<-chind(CLTesth 13,CLTesthnextSpyQt)
CLTesthI3nex$pyOcum<-CLTesthnext$pyOcum*CLTesthnext$py0t

}

CLTesth 13nex<-
CLTesthI3nex[order(CLTesthI3nex$ID,CLTesthI3nex$X1,CLTesthI3nex$X2,CLTesthI3nex$
X3E L Testh 13nex$Y,CLTesth 13nex$t,CLTesth 13nex$pyOcum),]

CLTestHa<-data. frame(CLTesth 13nex)

CLTestHa<-
data.frame(ro=CLTestHa$ID,XI=CL TestHa$X| X2=CL TestHa$x2,X3=CL TestHa$X3,Y=CL TestHa
$Y t=CL TestHa$t pyOcum=CL TestHa$pyOcum)

CLTestHaSphy 1<-( 1-CLTestHaSpyOcum)

CLTestHaY 1<-CLTestHa[CLTestHa$Y = 1§
CLTestHaY0<-CLTestHa[CLTestHa$Y =0]

# Compute R-square of Dynamic model#
HzG<-(Hmodel$null.deviance-Hmodel$deviance)
HzRsg<-(1-exp(-HzG/10000))
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# Compute sensitivity and 1-specificity of Dynamic model

hnumroc<-data.frame(hasen=I,hamspe=1)

for(c in 1:100){
Yh<-ifelse(CLTestHa$phy[>(c*0.01),1,0)
hesen<-ifelse(CLTestHa$Y==1& Y h=1,1,0)
hespe<-ifelse(CLTestHa$Y==0&Yh==0,1,0)
hasen<-(sum(hcsen))/nrow(CLTestHaY 1)
haspe<-(sum(hcspe))/nrow(CLTestHaY0)
hamspe<-( 1-haspe)
hnumroctemp<-data.frame(hasen,namspe)
hnumroc<-rbind(hnumroc,hnumroctemp)

}
CLTestHa<-data.frame(CLTestHa)

#Plot 2 ROC curves#
nf<- layout(matrix(c(2,1,1,2),2,2,oyrow=TRUE), ¢(2,1), ¢(l,2), TRUE)
layout.show(nf)
sroc<-plot(snumroc$stmspe, snumrocstsen,type="1" main="ROC" xlab="I-specificity",
ylab="sensitivity" lwd=2)
hroc<-plot(hnumroc$hamspe,hnumrocShasen, type="1" xlab="I-specificity",
ylab="sensitivity" lwd=2,col="blue" axes=FALSE)

#Compute area under ROC curve of 2 models#

sarearoc<-0

snumroc<-data.frame(stsen=snumrocSstsen,stmspe=snumroc§stmspe)

for(ain I:(length(snumrac$stsen)-1)){
sarearoc<-sarearoc
sdiffmspec<-snumroc$stmspe[a]-snumroc§stmspe[a+]
splussen<-snumroc$stsen[a]+snumroc$stsen[a+1]
sareatemp<-((I/2)*sdiffmspec*splussen)
sarearoc<-sarearoc+sareatemp



harearoc<-0

hnumroc<-data.ffame(hasen=hnumroc$hasen, hamspe=hnumroc$hamspe)

for(a in I:(length(hnumroc$hasen)-1)){
harearoc<-harearoc
diffmspec<-hnumroc$hamspe[a]-hnumroc$hamspe[a+1]
plussen<-hnumroc$hasen[a]+hnumroc$hasen[a+1]
hareatemp<-((I/2)*diffmspec*plussen)
harearoc<-harearoc+hareatemp

#Collect Statistics value#
Roctemp<-data.frame(StROC=sarearoc,HzROC=harearoc)
Rocarea<-rbind(Rocarea,Roctemp)

Stattemp<-
data.frame(StAIC=Smodel$aic, StDevI=Smodel$null. deviance, StDev2=Smodel$deviance,
Stn=nrow(CLModelStl),HzAIC=Hmodel$aic,HzDevI=Hmodel$null.deviance,
HzDev2=Hmodel$deviance,Hzn=nrow(CLModel))

Stattable<-rhind(Stattable,Stattemp)

R2temp<-data.frame(StR2=5tRsq,HzR2=HzRsq)

R2table<-rbind(R2table,R2temp)

Coeftemp<-data.frame(St_coef=coef(Smodel),Hz_coef=coef(Hmodel),r=i)

Coeftable<-rhind(Coeftable, Coeftemp)

}

Coeffall<-Coeftable[Coeftable$r!=0,]

Statall<-Stattable[Stattable$StAIC>,]

Rocareaall<-Rocarea[Rocarea$StROC !=0|]

R2all<-R2table[R2table$StR2!=1 & R2table$HzR2!=,]

#Test hypothesis of area under ROC for 1000 rounds#

CM<-t.test(Rocareaall$HzROC,Rocareaall$StROC altemative="greater" paired=TRUE,
var.equal=FALSE conf.level=0.95)
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! SAS

[*model data over  year */
data Credit.modellyear _data ;
set Credit.model data

If now_term <= 13,

run ;

Broc sort data=credit.modell year data ;
y t2cont date;
run

Broc sort data=credit.stmodel sample ;
y t2cont;
run ;

proc sql ; . .
create table credlt.haldy,ear id as
select t2cont from credit.sfmodel sample
run;

data credit-halyear_id ;
set credit.halyear 1d ;
select id =1;

run;

data Credit:modelh{ear_data ; _ .
merge Credit.modellyear data Credit.halyear id
by T2CONT ;

rin

data Credit.hamodel samplel ;
set Credit.modellyear_data ;
if select id =1 ;

run ;

data credit.hamodel samplel ;
set credit.hamodel samplel ;
format T2NRSL $1. =

format MISEX $1. ;

format region $2. ;

informat region $2. ;

run;

data Credit.hamodel samplel ;
set Credit.hamodel samplel ;
drop select_id ;

run ;

[*set 5 periods time 1-5 */

Broc sort data=credit.hamodel _samplel ;
y t2cont date;

rin



data Credit.hamodel samplel ;

set Credit.hamodel sample ;

y t2cont ;

retain time id ;

if first.t2cont then time id=1 ;
else time_id=time_id+1 ;

run;

data Credit.timel ;

set Credithamodel_samplel ;
if time_id=1 ;

run ;

data Credit.time2 ;

set Credithamodel_samplel
If time_id=2 ;

run ;

data Credit.timed ;

set Credit.hamodel samplel ;
If time_id=3 ;

run ;

data Credit.time4 ;

set Credit.hamodel_samplel
If time_id=4 ;

run ;

data Credit.timeb ;

set Credit.hamodel_samplel ;
if time id=5

run

[*set X1,Y2 for timel */
data Credit.timelX :
set Credit.timel
drop status statusl ;
run

proc sql ;
create table credit.time2y a

select t2cont, status, statusl
run;

data Credit.timelxly2 ;
mer%e Cred_lt timelX' Credit.time2y ;

I’Uﬂ ,

[*set X2,Y3 for time2 */
data Credit.time2x )
set Credit.time?2

If status=0

run

data Credit.time2x
set Credit.time2x

drop status statusl ;
run ;

from credit.time?

[



proc sql ; o
create table credit.time3Y as o
select t2cont, status, statusl from credit.time3
run:

data Credit.time2x2y3 ;
mer%e Credit.time2x Credit.time3dy ;
by T2CONT ;

run ;

[*set X3,Y4 for time3 */
data Credit timedx ;
set Credit.time3 ;

If status=0 ;

run

data Credit.timedx ;
set Credit.time3x ;
drop status statusl ;

run
proc sql ; <
create table credit.timedy as o
select t2cont, status, statusl from credit.time4
run

data Credit.time3x3y4 ;
merglle Credit.time3x” Credit.timedy ;
by T2CONT ;

run ;

[*set X4Y5 for timed */

data Credit timedx ;

set Credit.time4 ;

If status=0

run ; .

data Credit.timedx ;

set Credit.timedx ;

drop status statusl ;

run ;

proc sql ; o
create table credit.timeby as LAS
select t2cont, status, statusl from credit.time5

run;

data Credit.timedxdys ;
merge Credit.timedx” Credit.timeby ;
by T2CONT ;

rin ;

[*corr hazard sample for timel-4 */
PROC_SQL;

CREATE TABLE CREDIT.hamodel sample AS
SELECT * FROM CREDIT.tim e1xIy2
OUTER_UNION CORR _

SELECT * FROM CREDIT.time2x2y3
OUTER_UNION CORR _

SELECT * FROM CREDIT. time3x3y4
OUTER_UNION CORR _

SELECT * FROM CREDIT. time4x4y5;
run;



Broc sort data=credit.hamodel _sample ;
y t2cont date;
run ;

data Credithamodel sample ;
set Credithamodel Sample ;
drop time_id ;

run ;

[* new set static model sample*/
data Credit.stmodel xf ;

set Credit.hamodel Sample ;

b¥ t2cont ;

it first.t2cont ;

run ;

data Credit.stmodel yl ;
set Credit-hamodel sample
b¥ t2cont ;

it last.t2cont ;

run ;

data Credit.stmodel xf :
set Credit.stmodel xf ;
drop status statusl ;

run ;
proc sql ; .
create table credit.stmodel ylyy as _
o select t2cont, status, statusl from credit.stmodel yl ;
un,

data Credit.stmodel sample ;
merplle Credit.stmodel xf Credit.stmodel ylyy ;
by T2CONT ;

run

[*estimate model and test with old data*/ ,

proc logistic data=credit.stmodell4 samEIe outest=credit.stresultl4
outmodel=credit.staticfixl4_model SIMPLE;

b model status(event=""") = payment Itv rem term [/ rsquare
ctable; ) _

quit score out=credit.stscore_old OUTROC=credit.strocl4;

uit;

[*from est _model, test with new data*/
proc logiSTic inmodel=credit.staticfixl4_model; _

score data=credit.stpredictl4d sample out=credit.stscore_new
outroc=credit.stdataroc ;

quit;
proc sql ; .
create table credit.stresult old as.
select t2cont,status,p 1 from credit.stscore old ;
run;
proc sql ;

create table credit.stresult new as
select t2cont,status,P.1 from credit.stscore new ;
run;
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[*estimate model and test with old data*/ ,
proc logistic data=credit.hamodell4 samEIe outest=credit.haresultl4
outmodel=credit.hazardfix| 4 model SIMPLE;

model status(event=17) = payment Itv rem term /| rsquare

ctable; .
score OUTROC=credit.harocl4;

quit;

[*compute p & 1-p in timeb */
data credit.timel Ipre ;
set credit.hamodeTl4_sample ;
by t2cont ;

if first.t2cont ;
run;

data credit.timel pre ;

set credit.timel pre ;

rem _terml=rem térm ;
rem_term=rem Term-3

if rem_term<( then rem term=0 ;
run;

proc logistic inmodel=credit.hazardfixl4_model;
" score data=credit.timel pre out=credit.hascoretl ;
quit;
[*compute p & 8 in time6 */
data credit.time2 pre ;
set credit.timel pre ;
rem _terml=rem term ;
rem_term=rem Term-3 ;
run;

proc logistic inmodel=credit.hazardfixl4 _model;
score data=credit.time2 pre out=credit.hascoret2 ;

uit; .

gata credit.hascoret2
set credit.hascoret?

If rem_term<=-3 then p 0=1;
if rem_term<=-3 then p~1=0;
run;

[*compute p &1-% in time3 */
data credit.timed pre ;

set credit.time2 pre ;

rem _terml=rem térm ;
rem_term=rem term-3

run;

proc logistic inmodel=credit.hazardfixl4_model;

quit score data=credit.time3 _pre out=credit.hascoretd ;
uit;

data credit.hascoret3 ;
set credit.hascoretd

If rem _term<=-3 then p 0=1;
if rem_term<=-3 then p~_1=0;
run;



[*compute P & 1-p in timed */
data credit, time4 pre ;

set credit.time3 pre ;

rem _terml=rem term ;
rem_term=rem Term-3 ;

run;

proc logistic inmodel=credit.hazardfixl4_model;
" score data=credit.time4 _pre out=credit,hascoretd
quit;

data credit.hascoretd
set credit.hascoretd
if rem _term<=-3 then p 0=1;
if rem_term<=-3 then p_1=0;

run;
[*p 0 in timel-4 */
proc sql ; o
create table credit.timel PO as
select t2cont, p 0 from credit.hascoretl ;
run;

data credit.timel PO
set credit.timel PO ;
p_01= p 0;

drop p 0 ;

run;

proc sql ; 4
create table credit.time2 PO as

un- select t2cont, p_0 from credit.hascoret? ;

data credit.time2 PO ;
set credit.time2_PO ;

02= p 0;
g?op p?(f ;
run;
proc sql ; o
create table credit.time3 PO as
un- select t2cont, p_0 from credit.hascoretd ;

data credit.time3 PO ;
set credit.time3 PO ;
p_03= p 0;
drop p 0 ;
run;
proc sql ; o
create table credit time4 PO as

un select t2cont, p 0 from credit.hascoretd ;
un,
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data credit.timed PO ;
set credit.time4_PO
drop p.0

run;

data Credit.timeltod PO ;
merge Credit.timel PO Credit.time2 PO Credit.time3_PO Credit.time4_ PO

by T2CONT ;
run ;

data credit.timelto4 PO

set credit.timeltod4 PO ;
cumP 0= P Ol*p 02%p_03*p_04 ;
cumP~1=1-cumP 0 ;

run;

Broc sort data=credit.timelto4 PO ;
y t2cont;
rin ;

proc sql ;
create table credit.hastatusl4 last as

U select t2cont, status from credit.stmodelld _sample ;

data Credit.timeltod PO ; _
mer%e Credit.timeltod PO credit.hastatus 4 last ;
by T2CONT ;

run
proc sql ;
create table credit.hascore old as o
U select t2cont, status,cumP_T from credit.timel tod_P0 ;

proc gplot data= credit.strod4 ;
plot IMSPEC_ * SENSIT ;
run;

symboll v=dot i=join ;
proc gplot data="credit.stdataroc ;
U plot _IMSPEC * SENSIT ;
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Casel

St
0.7936
0.7998
0.8086
0.7883
0.8031
08123
0.8093
08112
0.8166
0.7950
0.7879
0.7950
0.7899
0.8041
0.7948
0.7946
0.8005
0.8053
0.7974
0.8125
0.7771
0.7927
08123
0.7806
0.7928
0.7928
0.7938
0.7978
0.7992
0.7831

Dy

0.8029
0.8058
0.8165
0.7962
0.8114
0.8148
0.8117
0.8170
0.8237
0.8033
0.7968
0.8029
0.7947
08112
0.8021
0.8060
0.8077
0.8118
0.8060
0.8160
0.7849
0.7980
0.8155
0.7888
0.7966
0.8019
0.7966
0.8035
0.8081
0.7901

ROC

Case?

St
09329
0.9267
0.9325
09333
0.9282
0.9316
0.9298
0.9305
0.9325
0.9281
09323
0.9320
0.9275
09319
0.9291
09313
0.9335
0.9309
0.9297
0.9276
0.9286
0.9299
0.9385
0.9362
0.9360
09323
0.9302
0.9347
0.9349
0.9345

Dy
0.9332
0.9278
0.9337
0.9328
0.9217
0.9318
0.9304
0.9303
0.9318
0.9283
0.9334
0.9320
0.9292
09323
0.9294
0.9316
0.9333
09313
0.9291
0.9282
0.9292
0.9297
0.9391
0.9368
0.9370
0.9329
0.9305
0.9349
0.9345
0.9358

Case3

St
0.8089
0.8027
0.8090
0.8167
0.7888
0.7897
0.7960
0.8006
0.7991
0.7775
08119
0.7922
0.7938
0.7992
0.8020
0.8038
0.7904
0.8088
0.8137
0.7957
0.7975
0.7924
0.8220
0.7992
0.7832
0.8004
0.8096
0.7967
0.7960
0.77%4

Dy
08127
0.8080
0.8106
0.8193
0.7938
0.7934
0.7979
0.8057
0.8034
0.7849
0.8119
0.7954
0.7915
0.8072
0.8027
0.8082
0.7967
0.8098
0.8148
0.8004
0.8026
0.7966
0.8250
0.7997
0.7865
0.8023
0.8169
0.7963
0.7987
0.7850

Cased

St
0.7959
0.7774
0.7726
0.8302
0.7658
0.8106
0.7884
0.7841
0.8159
0.7945
0.7968
0.7714
0.7870
0.7788
0.7697
0.7922
0.8012
0.8024
0.7694
0.8210
0.7959
0.7830
0.8105
0.7736
0.8002
0.7790
0.7857
0.79%
0.7730
0.8142

Dy
0.8030
0.8017
0.7935
0.8351
0.7816
0.8215
0.8021
0.7953
0.8290
0.8104
0.8096
0.7926
0.8013
0.8039
0.7891
0.8062
0.8065
0.8138
0.7879
0.8243
0.8103
0.8054
0.8300
0.7910
0.8105
0.7918
0.7975
0.8075
0.7912
0.8263

30

Caseb

St
0.9448
0.9358
0.9407
0.9372
0.9408
0.9430
0.9387
0.9419
0.9412
0.9402
0.9422
0.9360
0.9388
0.9361
0.9429
0.9411
0.9412
0.9384
0.9402
0.9420
0.9407
0.9399
0.9387
0.9383
0.9407
0.9446
0.9384
0.9451
0.9433
0.9402

0.9482
0.9399
0.9443
0.9420
0.9454
0.9465
0.9424
0.9454
0.9456
0.9443
0.9456
0.9410
09431
0.9408
0.9461
0.9451
0.9450
0.9413
0.9433
0.9455
0.9437
09441
0.9428
0.9422
0.9448
0.9487
0.9417
0.9493
0.9466
0.9436

7

Casch

St
0.7783
0.7830
0.7812
0.8088
0.7722
0.8164
0.7859
0.7993
0.7769
0.8053
0.77%
0.7863
0.8015
0.8015
0.7795
0.8079
0.7656
0.7797
0.7905
0.7710
0.8038
0.7971
0.8048
0.7773
0.7831
0.7924
0.7908
0.7919
0.7971
0.8199

0.7890
0.8031
0.7978
0.8227
0.7855
0.8292
0.8059
0.8045
0.7973
0.8139
0.7920
0.8038
0.8191
0.8130
0.7895
0.8263
0.7858
0.7819
0.71972
0.7837
0.8233
0.8109
0.8154
0.7925
0.7995
0.8003
0.8098
0.8048
08171
0.8333
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